

## GOVERNMENT OF ANDHRA PRADESH FOREST DEPARTMENT



From Sri Y.Srinivasa Reddy, IFS., Chief Conservator of Forests, Guntur Circle, Guntur.

To
The Prl.Chief Conservator of Forests &
Head of Forest Force,
Andhra Pradesh,
Mangalagiri.

#### Rc. no.1267/2021-TO, Dated.25.05-2023.

Sir.

Sub:- APFD - FC Act, 1980 - Diversion of 4.84ha. of forest land in compartment no.102 of Janapadu RF, Guntur Range of Guntur Division for quarry lease for limestone (minor) in favour of Sri G.Pavan Kumar Reddy- in-principle (Stage-I) approval accorded by Govt. of India-demand notice issued by the DFO, Palnadu to the user agency - report submission of- Reg.

**Ref**.-1. GoI, MoEF & CC, IRO, Vijayawada lr.F.no.4-APB189/2022-Vij/ 831, dt.07.04.2023 (Stage-I).

2.Prl.CCF, AP, Guntur. Rc.no. EFS02-15029/7/2021/FCA-SEC/PCCF SEC/PCCF/FCA-3, dt.21.4.2023

3. DFO, Palnadu Rc.no.1297/2021-TO, dt:25.05.202 demand notice issued to the user agency.

In compliance to the instructions contained in the ref. 1<sup>st</sup> & 2<sup>nd</sup> cited, it is submitted that the Government of India in the ref.1<sup>st</sup> cited has accorded in-principle (*Stage-I*) approval under F(C) Act, 1980 for the diversion of 4.84ha. of forest land in compartment no.102 of Janapadu RF, Guntur Range of Guntur Division for quarry lease for limestone (minor) in favour of Sri G. Pavan Kumar Reddy subject to fulfillment of certain conditions laid down therein.

In this connection it is submitted that, as per the instructions of the Prl. Chief Conservator of Forests, AP, Guntur in the ref.2<sup>nd</sup> cited, the District Forest Officer, Palnadu has issued a demand notice to the user agency for making the payment by generating an e-challan through the ministry's website vide ref.3<sup>rd</sup> cited. A copy of the demand notice of the Dist. Forest Officer, Palnadu with demand notice is submitted herewith for favour of kind information.

I. Amount demanded to be deposited in Ad-hoc CAMPA, Corporation Bank, Lodhi Road, New Delhi through e-challan only (As per IGF, Ad-hoc CAMPA, Lr.12-2/2010-CAMPA, dated.09.06.2016 communicated in Prl.CCFs, AP, Rc.no. 45921/2001/FCA-4(i), dt.04.07.2016).
(Amount. Rs. in Rupees)

Cond.no. Remarks S1. Amount Category as per No ref.1st 5 4 3 1 2 (Eco Class -Net Present Value (NPV) of the diverted 4635656.00 III open 1 (vi) forest land (Calculation sheet enclosed) forest).

1	2	3	4	5
2	(iii)	Compensatory Afforestation (CA) (Raising of C.A Plantation over an extent of 4.10Ha identified in the non-forest land Ekurnampuram Village, C.S.Puram Mandal, Prakasam District. CA Scheme including maintenance up to (10) years.	9054000.00	
3	(xv)	Raising of maintenance of 1.155Ha (one and half times the safety zone area) in degraded forest area in compartment No.127, Kondaveedu RF, Guntur Range of Guntur Division. CA Scheme including maintenance up to (10) years.	2370000.00	As per the approved Scheme.
4	(xvi)	Gap planting and soil and moisture conservation activities to restock and rejuvenate the degraded open forest (having crown density less than 0.4) located in the area within 100 meters from the outer perimeter of the mining lease using native species. CA Scheme including maintenance up to (10) years.	250000.00	
	90-130-Fr	Total amount	16309656.00	

II. Amount demand for tree extraction, logging, and transportation in the forest area diverted to be deposited with Divisional Forest Officer (As per IGF, Adhoc CAMPA lr.no.13-20/ 2015/CAMPA, dt.09.06.2016 communicated in Prl.CCFs, AP, Rc.no.45921/2011/FCA-4(ii), dt.04.07.2016).

Sl. no.	Total amount (in Rupees)	District Forest Officer, Palnadu  Bank Account details for depositing the amount.
1	Rs.800/-	Name of the Bank: <b>State Bank of India</b> Branch location: (00884), Narasaraopet, Old Police Station Road, Near over bridge. Account Number: <b>41438252650</b> IFSC Code: <b>SBIN0000884</b>

This is submitted for favour of kind information and necessary action.

Encl. Ref.3rd.

Yours faithfully, Sd/-Y.Srinivasa Reddy, Chief Conservator of Forests, Guntur Circle, Guntur.

Copy to the District Forest Officer, Palnadu for information and necessary action.

//tcbo//

Tech. Offcer 25 5 12013

# File No.EFS02/125/2023-TO(MV)-TO-DFOPLND

## GOVERNMENT OF ANDHRA PRADESH FOREST DEPARTMENT

Rc.No.1297/2021-TO Date: 25/05/2023

O/o. The District Forest Officer, Palnadu

Sri N.Ramachandra Rao, District Forest Officer, Palnadu

### DEMAND NOTICE

Sub:- AP- Forest Department - Palnadu Division - F(C) Act. 1980 - Diversion of 4.84Ha of Forest land in Compartment No.102, Janapadu RF, Palnadu Division for quarry lease for Limestone (Minor) in favour of Sri.G.Pavan Kumar Reddy - In Principle (Stage-I) approval accorded - Orders communicated - Condition wise compliance report called for - Demand Notice issued - Reg.

Ref:- 1. GoI, MoEF&CC, IRO, Vijayawada, Lr .No.4-APB189/2022-VIJ/831, Dt.07-04-2023.

- 2. Govt. of A.P.Memo No:1924/Sec-II/2022/1820662 Dt:11.04.2023.
- 3. Prl.CCF Rc.No.EFS02-15029/7/2021-FCA-SEC PCCF/FCA-3, Dt:21-04-2023.
- 4. CCF, Guntur Rc.no:1267/2021-TO.Dt:25.04.2023& 17.05.2023.
- 5. This office Rc.No:1297/2021/TO, Dt:29.04.2023 & 17.05.2023.

\*\*\*\*

It is informed that in the ref. 1<sup>st</sup> and 2<sup>nd</sup> cited, the Govt. of India and Govt. of AP, have accorded in-principle (*stage-I*) approval for diversion of 4.84 Ha of forest land in Compartment No:102, Janapadu RF, Palnadu Division in favour of Sri.G.Pavan Kumar Reddy for quarry lease for lime stone (Minor) subject to fulfillment of certain conditions by the user agency.

In the reference 4<sup>th</sup> cited, the Chief Conservator of Forests, Guntur circle, Guntur accorded necessary approvals to the CA Schemes and instructed to raise demand to the user agency as per the conditions of the GoI & Govt. of AP. Therefore, the User Agency i.e. Sri.G.Pavan Kumar Reddy, Piduguralla is requested to deposit the following amounts through e-payments mode i.e., challan generated through Ministry's website portal (i.e., www.parivesh.nic.in) only.

 Amount demanded to be deposited in Adhoc CAMPA, Corporation Bank, Lodhi Road, New Delhi through e-challan only (As per IGF, Ad-hoc CAMPA, Lr.12-2/2010-CAMPA, dated.09.06.2016 communicated in Prl.CCFs, AP, Rc.no.45921/2001/FCA-4(i), dt.04.07.2016).

SI.No. Condition No. Category	Unit Rate Total Total Amount
stipulated in	(In area in (In Rupees)
the Stage-1	Rupees) Ha
approval of	
Gol /GoAP.	

## File No.EFS02/125/2023-TO(MV)-TO-DFOPLND

1.	Condition No(vi)	Net Present Value ( NPV) of the diverted forest land.	9,57,780/ - (Eco Class -III open forest)		46,35,656/-
		NPV Total			46,35,656/-
2.	Condition No(iii)	Compensatory Afforestation (CA) (Raising of C.A Plantation over an extent of 4.10Ha identified in the non-forest land Yekurnapuram Village in Prakasam District). CA Scheme including maintenance up to (10) years.		4.10Ha	90,54,000/-
3.	Condition No.	Raising of maintenance of 1.155Ha (one and half times the safety zone area) in degraded forest area in compartment NO.127, Kondaveedu RF,Guntur Range of Guntur Division. CA Scheme including maintenance up to (10) years.		1.155Ha	23,70,000/-
4.	Condition No. (xvi).	Gap planting and soil and moisture conservation activities to restock and rejuvenate the degraded open forest(having crown density less than 0.4) located in the area within 100metres from the outer perimeter of the mining lease using native species. CA Scheme including maintenance up to (10) years.			2,50,000/-
der i		CA Total			1,16,74, 000/-
A W	Frey Tile De San	Grand Total(NPV+CA)			1,63,09,656

## I(a). Procedure for e- challan generation:

- i. On issue of this demand notice, the user agency shall log into Forest Clearance portal and the User agency should pay through e-payment mode i.e challan generated through the Ministry's website portal ((i.e www.parivesh.nic.in) only to generate challan and make payment against the demand.
- ii. The User Agency shall fill all the details as per the format provided in the portal and submit to Nodal Officer for verification.
- iii. Once it is verified by the Nodal Officer, the User Agency can generate e-challan from the portal.
- II. Amount demand for tree extraction, logging and transportation in the forest

### File No.EFS02/125/2023-TO(MV)-TO-DFOPLND

area diverted to be deposited with Divisional Forest Officer (As per IGF, Adhoc CAMPA lr.no.13-20/2015/CAMPA,dt.09.06.2016 communicated in Prl.CCFs, AP, Rc.no.45921/2011/FCA-4(ii), dt.04.07.2016).

Sl. no.	Total amount (In Rupees)	District Forest Officer, Palnadu  Bank Account details for depositing the amount.
1	Rs. 800/-	Name of the Bank: State Bank of India  Branch location:(00884),Narasaraopet, Old Police Station Road, Near over bridge.  Account Number:41438252650  IFSC Code:SBIN0000884

Further, the user agency should comply the following in accordance with the Government of India instructions issued vide F.No.7-23/2012-FC, dt.24.07.2013 communicated in PCCF Rc.no.45921/2001-F4, dt.23.08.2013 and publish the orders at the cost of the project proponent.

- 1. Publish the entire forest clearances granted in verbatim along with the conditions and safe-guards imposed by the Central Government in two widely circulated daily newspapers, one in vernacular language and another in English language, so as to make people aware of the permission granted to the project proponent for use of forest land for non-forest purposes.
- 2. The copies of the Forest clearance should also be submitted to the Heads of local bodies, Panchayats and Municipal Bodies by the project proponents in addition to the relevant offices of the Government who in turn have to display the same for 30 days.

Hence, the User Agency is requested to submit the compliance as per the conditions stipulated in the reference 1<sup>st</sup>, 2<sup>nd</sup> cited with condition wise relevant proofs / undertakings in (6) sets, as addressed vide ref.6<sup>th</sup> cited, for onward submission to the Principal Chief Conservator of Forests (HoFF) AP, Guntur through the Chief Conservator of Forests, Guntur Circle, Guntur for further action. **The condition-wise compliance shall be submitted in PARIVESH portal too.** 

Encl: As above

Ramachandrarao Nadapana District Forest Officer, Palnadu

To, Sri G. Pavan Kumar Reddy, S/o G. Rami Reddy, H.No:16-55/2, ZPH High School back, old Post Office lane, Piduguralla, Palnadu District, Andhra Pradesh -522413. (BY RPAD).

Copy to the Forest Range Officer, Narasaraopet for information and she is requested to give guidance to the user agency for fulfilling the conditions stipulated in the reference  $1^{st}$  to  $3^{rd}$  cited above.

Copy submitted to the Chief Conservator of Forests, Guntur Circle, Guntur for favour of kind information.

Signed by Ramachandrarao Nadapana

Date: 25-05-2023 12:06:48

Reason: Approved

# NET PRESENT VALUE

Statement showing the calculation of total Net Present Value in the proposed area for "Diversion of 4.84 ha forest land for quarry lease for limestone (Minor) in Compartment No:102, Janapadu RF of Gullapalli Beat & Nekarikallu Section of Guntur Range in favour of Sri G. Pavan Kumar Reddy" .

(As per G.O.I., New Delhi, F. No. 5-3/2011-FC (Vol-I), Dated 06.01.2022)

SI.	Eco-Value	Class	Total Area proposed (Ha)	Net Present Value Rate/Ha	Increase in value as per Supreme Court of India (5 times of NPV in Sanctuaries)	Total Cost of Net Present Value (NPV)
,	Eco-Class-III Tropical Dry Deciduous Forests (Open forest)	Eco-Class-III Tropical Dry Deciduous Forests	4.84	9,57,780/- (Eco- Class-III open , forest)	-	46,35,656/-
					Total:	46,35,656/-

Place: Guntur

Date:

(Signature)

District Forest Officer,

Guntur.

NULES! RAPISE CHRICER GUNTUR.



### GOVERNMENT OF ANDHRA PRADESH FOREST DEPARTMENT



Rc.no.1267/2021-TO Dated.l7 -05-2023.

O/o The Conservator of Forests, Guntur Circle, Guntur.

Sri Y.Srinivasa Reddy, IFS., Chief Conservator of Forests, Guntur Circle, Guntur.

Sub:- APFD - F(C) Act, 1980 - Diversion of 4.84ha. of forest land in compartment no.102 of Janapadu RF, Guntur Range of Guntur Division for quarry lease for limestone (minor) in favour of Sri G.Pavan Kumar Reddy- in-principle (Stage-I) approval accorded by Govt. of India - Orders communicated - Approval of CA Scheme - Reg.

Ref:- 1. GoI, MoEF & CC, IRO, Vijayawada Ir.F.no.4-APB189/2022-Vij/ S31, dt.07.04.2023 communicated in PCCF, AP, Guntur. Rc.no. EFS02-15029/7/2021/FCA-SEC/PCCFSEC/PCCF/FCA-3, dt.21.4.2023 (Stage-I). 2.DFO, Prakasam Rc.no.1882/2021-TO, dt.28.04.2023. 3.DFO, Palnadu Rc.no.1297/2021-TO, dt: 10.05.2023. 4. DFO, Guntur Rc.no.1297/2021-TO, dt:08.05.2023.

The District Forest Officer, Palnadu is informed that in the reference 1st cited the Government of India MoEF & CC.R.O, Chennai has accorded approval for the diversion of 4.84ha. of forest land in compartment no.102 of Janapadu RF, Guntur Range of Guntur Division for quarry lease for limestone (minor) in favour of Sri G.Pavan Kumar Reddy in principle (Stage-I) duly imposing certain conditions which are to be complied by the user agency.

The District Forest Officer further informed that as per the conditions imposed by GOI vide condition No (iii), (xv) and (xvi) funds have to be collected towards Compensatory afforestation from the user agency. Accordingly, the DFO, Guntur, Palnadu, and Prakasam have submitted the CA Schemes and requested approve the same for the raising of demand notice to the User Agency.

The CA scheme proposals submitted by the District Forest Officers vide reference 2° to 4° cited have been examined and approved as follows for raising and maintenance of plantations from 2024-23 to 2035-36 with component-wise details with an outlay of Rs.116.74lakhs for raising plantations and its further maintenance for a period of ten (10) years as detailed below:

SI. No	GoI Cond.no.	Name of the work	Funds to be deposited by the User Agency
_1	2		(Rs.in Lakhs)
1	(iii)	Afforestation & Maintenance of 4.10Ha of non-forest CA land. CA Scheme including maintenance up to (10) years.	90.54
2	(xv)	Raising of maintenance of 1.155ha (one and half times the safety zone area) in degraded forest area in compt.no.127, Kondaveedu RF, including maintenance up to (10) years.	23.70
3	(xvi)	GAP planting and soil and moisture conservation activities to restock and rejuvenate the degraded open forest (having crown density less than 0.4) located in the area within 100 meters from the outer perimeter of the mining lease using native species.	2.50
		Total cost:	116.74

As per the guidelines of FC, Act, 1980 and as per the conditions imposed by GOI vide condition No. (iii), (xv), and (xvi) and other conditions, a demand notice has to be issued to the user agency for raising afforestation plantation in the identified Non-Forest CA Land and other degraded RF lands for payment of Rs.116.74lakhs through online as prescribed by MoEF & CC, New Delhi, letter dt.23.09-2015 by e- payment mode by generating challan as instructed by Prl. Chief Conservator of Forests, A.P., Mangalagiri in the reference 1<sup>st</sup> cited and submit a compliance report.

Encl: Statements of CA Schemes.

Chief Conservator of Forests, Guntur Circle, Guntur.

12/5/2013

To The District Forest Officer, Palnadu.

Copy to the District Forest Officer, Guntur, and Prakasam for Information and necessary action.

Statement Showing the C.A Scheme Proposals over an extent of 4.10 Ha in Sy.No.5-1, 5-3A, 5-4, 5-5, 6-2, 7-1 and 9-2 Ekunampuram (Village), C.S Puram (Mandal), Prakasam (District), Kanigiri Range of Prakasam Division in lieu of (Minor) in favour of Sri.G.Pavan Kumar Reddy.

S1. No.	Name of the work	Year	Quantity in Ha/ Rmt	Unit Cost	Per	Amount (in Lakhs)	Remarks
1	Plantations						
1	Advance operations	2024-25	4.10	0.550	На	2.255	
2	Raising of Nursery	2024-25	5300	14.750		0.782	
3	Raising of plantations	2025-26	4.10	1.392	На	5.707	
4	Maintenance of Nursery	2025-26	5300	8.885		0.471	
6	Raising of Nursery for 1st year maint	2025-26	700	16.225	Each seedling	0.114	
5	1st year maintenance	2026-27	4.10	0.501	На	2.055	
7	Maintenance of Nursery	2026-27	700	9.773		0.068	
9	Raising of Nursery for 2nd year maint	2026-27	700	17.847	Each seedling	0.125	
S	2nd year maintenance	2027-28	4.10	0.551	На	2.261	
10	Maintenance of Nursery	2027-28	700	10.751	Each seedling	0.075	
11	3rd year maintenance	2028-29	4.10	0.485	На	1.989	
12	4th year maintenance	2029-30	4.10	0.231	На	0.948	
13	5th year maintenance	2030-31	4.10	0.069	На	0.284	
14	6th year maintenance	2031-32	4.10	0.076	На	0.312	
15	7th year maintenance	2032-33	4.10	0.084	На	0.343	
16	8th year maintenance	2033-34	4.10	0.092	На	0.378	
17	9th year maintenance	2034-35	4.10	0.101	На	0.415	
18	10th year maintenance	2035-36	4.10	0.111	На	0.457	
	Sub Total					19.040	
11	Chain Link Fencing						
Prompt.	Erection of Chain Link fencing around the CA Plantation in Sy.No.5-1, 5-3A, 5-4, 5-5, 6-2, 7-1 and 9-2 Ekunampuram Village.		2043	0.0203	Rmt	41.372	
2	Salvaging of old Chain ling for 10 Years		3075	0.0014	Rmt	4.260	
-	Sub Total					45.632	
<u> </u>	Total cost of Plantation					64.672	
111	SMC Works (25% of the total planting					16.168	
-	Sub Total					16.168	
IV	Monitoring and Evaluation					3.234	
V	Administrative Cost @ 10% of					6.467	
	Grand Total:				7	90.540	

COUNTER SIGNED

Chief Conservator of Forests GUNTUR CIRCLE, District Fore Officer

Statement Showing the afforestation Scheme Proposals over an extent of 1.155 Ha (1-1/2 times SZA area of Sri G.Pavan Kumar Reddy Quarry lease) in degraded Kondaveedu RF, Compt.no.127 of Gunutr Range, Guntur Division

No 1	Name of the work Plantations	Vear	Quantity in Ha/ Rmt	Unit Cost	Per	Amount (in Lakhs)	Remark
1	Advance operations				~ *********		
2	Raising of Nursery	2024-25	1.155	0.547	Ha	0.631	
;	Raising of plantations	2024-25	1500	14,653	Each seedling	0.220	
-1	Maintenance of Nursery	2025-26	1,155	1,395	His	1,612	
()	Raising of Nursery for 1st year maint	2025-26	1500	8,716	Ench seedling	0.131	
5	1st year maintenance	2025-26	1.30	16,118	Each seedling	0.021	
7	Maintenance of Nursery	2026-27	1.155	0.487	Hn	0,563	
()	Raising of Number 6	2026-27	130	9,587	Each seedling	0.012	
S	Raising of Nursery for 2nd year maint 2nd year maintenance	2026-27	130	17.730	Each seedling	0.023	
10	Maintanance Ext	2027-28	1,155	0.536	110	0,619	
11	Maintenance of Nursery	2027-28	130	10.546	Each seedling	0.014	
12	3rd year maintenance	2028-29	1.155	0.467	110	0.540	
13	4th year maintenance	2029-30	1.155	0.212	Ha	0.244	
14	5th year maintenance	2030-31	1.155	0,069	Hn	0.080	
15	6th year maintenance	2031-32	1,155	0.076	Ha	0.088	
	7th year maintenance	2032-33	1.155	0.084	Ha	0.097	
16	8th year maintenance	2033-34	1.155	0.092	Ha	0.106	
17	9th year maintenance	2034-35	1.155	0.101	Ha	0.117	
18	10th year maintenance	2035-36	1.155	0.111	Ha	0.129	
	Sub Total					5.247	
11.							
1	Erection of Chain Link feneing around the SZA Plantation in Compt.No:127, Kondaveedu RF, Ameenabad beat in Guntur Section & Range		532	0.0198	Rmt	10.524	
2	Salvaging of old Chain ling for 10 Years		798	0.001399	Rmt	1.116	
_	Sub Total					11.640	
	Total cost of Plantation					16.887	
111	SMC Works (25%of the total planting Cost)					4.222	
-	Sub Total					4.222	
1 / I	Monitoring and Evaluation 5% of the total planting Cost			-		0.844	
,	Administrative Cost @ 10% of the planting Cost (Wages to NTM & DEO in Kanigiri Range Office & DFO Office, Prakasam					1.747	
-	Grand Total:		-			23.700	

Forest Range Office Guntur (FAC)

COUNTER SIGNED

District Forest Officer Guntur

Chief Conservator of Forests
GUNTUR CIRCLE,
GUNTUR.

17/5/2013

10 Mana

BJ 23

GUNIUK.

Statement showing the C.A Scheme proposals for raising and maint. of 20 Nos of plants Per hector within 100 meters from the outer perimeter of the mining lease area of 4.84Ha of Forest land in Compartment No.102, Janapadu RF, Narasaraopet Range of Palnadu Division for quarry lease for Limestone (Minor) in favour of Sri.G.Pavan Kumar Reddy

Sl. No.	Name of the work	Area arried (In Ha)	Quantity in Ha/ Rmt/Nos	Year	Unit Cost	per	Amount (in Lakhs)
I	Plantation						
1	Raising of plantation	7.52	150.00	2024-25	890.61	Each	1.336
2	1st year maintenance	7.52	150.00	2025-26	57.445	Each	0.086
3	2nd year maintenance	7.52	150.00	2026-27	17.830	Each	0.027
4	3rd year maintenance	7.52	150.00	2027-28	17.685	Each	0.027
5	4th year maintenance	7.52	150.00	2028-29	19.455	Each	0.029
6	5th year maintenance	7.52	150.00	2029-30	21.400	Each	0.032
7	6th year maintenance	7.52	150.00	2030-31	23.540	Each	0.035
8	7th year maintenance	7.52	150.00	2031-32	25.895	Each	0.039
9	8th year maintenance	7.52	150.00	2032-33	28.485	Each	0.043
10	9th year maintenance	7.52	150.00	2033-34	31.335	Each	0.047
11	10th year maintenance	7.52	150.00	2035-36	34.470	Each	0.052
	Total plnating						1.752
12	SMC @15% on plantation cost						0.263
13	Monitoring and Evaluation 5% of total planting cost						0.088
14	Administration cost @ 10% on total plantation cost (Wages to NTM, DEO and other office expenditure)						0.397
	Total						2.50

FAD

Forest Range Officer Narasaraopet COUNTER\_SIGNED

District Forest Officer
Palnadu

Chief Conservator of Forests
GUNTUR CIRCLE,
GUNTUR.

18/5/2023